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Blank Grid for Numeracy extension Task
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Emoji Addition and Subtraction Facts Up to 20
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Circle the mistake. Explain how you know.
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Emoji Addition and Subtraction Facts up to 100 Mosaic

Addition facts up to 100
Solve the calculations to reveal the hidden picture.
Each answer has a special colour:

110,60 - ellow 611080 - black.

811090 - white 910100 - pink

23+20] 15+5 |28+ 10[30+ 12|30 + 30|

25+4(33+7[19+30[ 3249 |10+33 {30 + 1622 + 10|

5245|3643 [43+20( 46 +4 |36+10| 83 +5 10+ 74| 83+7 |12+ 20]

35+10[38 + 30| 24+ 6 |54+ 10| 47+ 3 |44 + 40|40 + 32|23 + 60|31+ 20|

38+ 10[22 +20{ 38+ 20( 20+ 12|30 + 20| 85 + 5 |48 + 40|32 + 50|22 + 30|

32+20(35 + 10[34+20[ 12+6 | 2545|3347 5742 31+5 |35+ 20|

40+ 16[59 + 10{40+ 3240 + 6051+ 40[ 50 + 50|30 + 42{ 30 + 35|33 + 10|

1244 |16+ 10|41+ 30(50+ 20| 90+4 |70+ 30[30 + 36| 26 + 4 |26 + 30)

1242042 + 10|25 + 75|20 + 50 |45 + 50{ 45 + 10|25 + 10|

43+15] 5243 |45+ 45|27+ 13|26 + 20|

‘Challenge: Jagne thinks 20 + 20 + 20 = 50.
15 she correct? Explain your reasoning





